i\

1§ “
A= BF h\.
¥

v)
Ff
>

AR

™
'
“ ft

RIS
R

@V)
noS

[\

+
R
ot

.
N
=
AN N
)




Z {/Kj =Y
Daes  (1,2) Uegn this [ine™?

2ele 42 R X 4 So Mo,

Does (Z 0) lee on L/LQ/S [242?
/

Zx 2¢ 340 =& / Y@S,

C—Oﬂgﬁc &er Lé?ﬁ% ch =L
v ﬂ<:;> 'Z,é,l?(,{jgﬂ ): 1*%
(s(\:amoLOAgj Ig‘ \

-

Saﬂe L:’Le’

L.

‘lfzﬂfzaf -2
Does L (/)\) o Lie on é’[@; {D(q/we
|+ 2Zue3= 6 F_2 No
(o, -1 0)
Oc2(-)320=—2 e Ves

X-Y4t+rz2z+w=0

Does (1,1, 1,10 Le on bhis hyperp (ane’!
# [~11 24\ =T %0 Qa’No

Does ([[l’0,0> Y€§~













V= (,t2) Q= (2 1-1)
Find the veckor /; Loay g/\/mﬁéaCZ
= >
0% = oF + £ P4

j@_: (1 0=3) |

Ox = (1,1,2) +5(1 0=x)
- %1%
= (3,27)




